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Resonance Baseline ¥ / S = S § S < &%
0.57140.005 4+ 0.019  0.015 0.011 0.005 0.003 0.002 0.001 0.001 0.002 0.003 0.000
Coherence —0.04+0.54+0.8 0.00 0.01 0.58 0.30 0.24 0.09 0.16 0.12 0.19 0.00 ()
0.835+0.003 £0.011  0.009 0.001 0.003 0.003 0.003 0.001 0.001 0.001 0.002 0.000
B 8+0.001 £0.011  0.010 0.001 0.001 0.001 0.002 0.000 0.000 0.001 0.001 0.000
0.656 +0.001 +0.006  0.003 0.001 0.000 0.003 0.003 0.001 0.000 0.000 0.000 0.000
CP -even fraction 0.776 £0.003 £ 0.009  0.007 0.005 0.002 0.001 0.001 0.001 0.000 0.001 0.002 0.000
K7 (802)% 893.4+0.1+£1.1 1.0 0.1 0.2 0.0 0.1 0.0 0.0 0.0 0.0 0.0 MeV/c?
474403420 L9 0.1 0.1 0.2 0.2 0.3 0.1 0.1 0.1 0.0 I\Ic\"/r,2
K*(1410)% mpg 1437£8 £ 16 8.8 5.8 8.9 1.9 5.6 5.4 3.3 1.3 1.2 2.0 MeV/c?
b’1 60430 + 40 14 16 20 10 22 8 6 6 6 2
(KOm) % ave 28 4 g 4.8 1.2 0.6 0.4 0.6 0.1 0.4 g 0.2 0.3
hg 3.0+02+0.7 0.4 0.4 0.3 0.1 0.1 0.1 0.1 0.1 0.0
K*(1410)° mp 1404 +9 + 22 71 14.9 10.7 6.6 4.5 3.5 0.5 3.4 MeV/c?
b; 130430 + 80 49 28 2 39 13 32 12 6 5 1
(K™)% wave vy G114 0.7 14.2 14 1.2 1.3 0.2 0.2 0.1 0.3 0.3
by 25+01+1.4 0.1 1.3 0.1 0.3 0.2 0.1 0.1 0.1 0.1 0.0
Kr S-wave r 12403404 0.04 0.23 0.28 0.11 0.10 0.06 0.03 0.04 0.04 0.04 ( {c\’/(:)’]
au(QSO)l mp 925+5+8 3.7 1.6 3.8 1.6 3.4 3.3 1.9 2.0 0.5 0.0 MeV/c?
(115(])1 mpg 1458 + 14 £+ 15 4.4 — 4.2 6.0 8.2 7.1 2.2 4.4 4.1 1.4 I\Ic\"/r,2
ol 240 I'r 282+12+13 12.4 1.0 2.2 1.2 2.1 1.4 0.6 1.9 1.5 0.7 MeV/c?
p(1450)% mg 12084849 2.7 5.2 3.5 0.7 47 2.7 1.9 0.8 — MeV/c2
p(1700)* mp 1552413 + 26 19.0 5.1 14.9 7.0 3.5 3.2 0.1 2.0 1.1 l\l(:\'/:2



